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1. 010
(a) p.3000 1000 (15)00000O00COOOUDOO... = ODOOUOODO...000O
oooooo

(b) p6 000 1000000000000 0OOND = OD0OO0O0OOOOOOOOOOOOOO

() p7000’UUDINIIOCODODOODODOONDND = DOOOOUOOOCOOODOOO
oood

(d) p8000O8UIODOOOLIODOOOOIODOD = U0OO0OD0OOODODOOOODMOOD
oood

(e) p15000 1000000000 q(t) D000 = 0OO0OOO0OOqt)ODODODOOO
(moobooboooo

(f) pl700020000000000000 = OOOOODOOOOODOOOOOOO
oon

(g) p.17000 7000000000000 = 0000000 (1.63)000000MmMO
(1.63) 000000000

(h) p. 18000 10000000000 0DODOO0 = DOOOOOODOOMDOOOOOO
oooooooon

(i) p.180 (1.83) 00000000 g0 g5 0000
() p190 (1.86) 00D =Y{--}= = O---=>{--}+% = 0oO0000OO
D0m+%&0o00000

(k) p22000O 5DDDDDDDDDDDDDDDDDDéDDDDDD = 00O4gd
00000 (1.101)0 000000 DOO0O

() p2300070000000000000000 = 0000000 p,00000
000 (1.99) 00000000

(m) p270 0000000000 = 0O0O0OOOOOOOOO

(n) p.308§ 1.5.30 00008 15200000 0000000000000 MOOOODO
ooooo@oon)

(o) p30000 120000000000000ODOO00 = 0ODOOOOOOOOOOO
ubbooboaoood

(p) p300000000000OOOOOOD = 0OOOOO (1.40)0D0000000OO
gbooobooboboobooboboobobooooobommomooboobod
gboobobobm

(@) p31000 100DOO---000000 = ---0000D0O0O0OOO
2.020

(a) pA410 (2200000200000 2,1 0 2,., 0000
(b) p44(235) 0000000 = O00D0000MOO0D0000O0

(¢) p45000 11000000S[q000M = 00S[q0000MO000000
0000

(d) p45000 100000000 0OO0OOOOOOOOODODOOO



(e) p-470 (247)00 (249)000000000 #0000000000000D0 f20
J2at0OoO00O000

(f) p4700000000000O00OOOUO0OO0OWM = 0OOOOOOOUOOOOO
ooobobooobo

(g) p48(2.43)00000000al=000I=00000000a00000
3.030
(a) p.610 3.1000mwq(0) = —mwe(0) (00000D000000D0000000

ooooo)

(b p65 000000000 f0 RO00OOD = fO0p 00000000000 0OPODO
obooboopbOobOD

(¢) p650000000000000-0000000000
(d) p.670 (3.64) 000000000 ;0 e; D000ODOM

4. 040

(a) p10000000O0O00O0O0O0OOOOOOOOO (xy2z) 00000 (1,0 D¢ )0
0000 = 00000 (xyz) 00000 (,60¢)0000000000000
000000000000000000000

(b) p740 00000000000 OO0ODOONOOOOD = NOOOOOOOOOO
ooooooNODOOm DOod

(c) p.790 (425)00000000000000000 ¢ =-94 Q" =g

(d) p8lO000000O0OOODODODO0OOODOOOOOODODODODODODODOODODODOOOOO
gobobooobbooobbooobbooobobooobbooobobooon
ugoo

(e) p.81000 90000000 OO = OODODODOOD0OO0O0004,j01,23004¢'0
gboboobooooboobbooobo0 boobmooboooboo

(f) p81 00000000000 = 00000

(g) p.83(4.46)0 (4.47)000W, 000000000 WOOODO

(h) p.83000 70000000000000000000(4.21) = (4.23)

() p9400000000000000 = 0000000000 O0O00O0O0000
)

)

)

Gy p97000000000000O0ODO = OOOOOODOOOOOODO
(k) p970000D0C0ODODOOO00 = ODOOOOOODOOOOOOO
() p.1030 (4.152) 0002000000 3000000000000 0O0OOOOUOOOO

05(q1,q0) = S(giat17Q67tO)_S(Q17t17QO7tO)
= [Cain@. i) - 1@ )

to

b (OL(g, ) dOL(q, @)\, (OL(G
_(Lﬁ<ém_ﬁ&§)w+<

(m) p.1040 (4.164) D00 p(0) = p(to)
000000000000000000000



